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Chapter 08

Inventories and the Cost of Goods Sold

  


True / False Questions
 

1. When goods for sale are not homogeneous in nature, it is not necessary to use the specific identification method of accounting for inventory. 
True    False

 

2. An advantage of the average cost method of accounting for inventory is that the inventory is valued in the balance sheet at current replacement costs. 
True    False

 

3. An advantage to the LIFO method of accounting for inventory is that it values the cost of goods sold at current replacement costs. 
True    False

 

4. A write down of inventory due to obsolescence reduces the amount in the Inventory account and may increase the amount in the Cost of Goods Sold account. 
True    False

 

5. Merchandise that has been sold but not yet recorded in the accounts should not be included in the physical inventory at year-end. 
True    False

 

6. Merchandise sold F.O.B. destination belongs to the buyer while in transit. 
True    False

 

7. In a periodic system, the only account in regard to inventory that is kept up-to-date is the inventory account. 
True    False

 

8. The inventory turnover rate is equal to the average inventory divided by the cost of goods sold. 
True    False

 

9. The retail inventory method would never be used if a company uses the FIFO method. 
True    False

 

10. During periods of inflation, the LIFO cost flow assumption will yield a lower inventory value than FIFO. 
True    False

 

11. Any business that sells numerous units of identical products may determine its cost of goods sold using a flow assumption, rather than the specific identification method. 
True    False

 

12. During periods of inflation, the specific identification cost flow assumption will yield a higher cost of goods sold than LIFO. 
True    False

 

13. The cost flow assumption selected by a company must correspond to the actual physical movement of the company's merchandise. 
True    False

 

14. A perpetual inventory system eliminates the need for periodically taking a physical inventory. 
True    False

 

15. Because of the consistency principle, inventory should never be written down below cost. 
True    False

 

16. In a perpetual inventory system, the flow of inventory cost is first through the balance sheet then through the income statement. 
True    False

 

17. The principle of consistency prohibits a company from changing an inventory valuation method once one is selected. 
True    False

 

18. In a periodic inventory system, understating the amount of ending inventory will cause an understatement of gross profit in the current year. 
True    False

 

19. In a periodic inventory system, overstating the amount of ending inventory will cause an understatement of gross profit in the following year. 
True    False

 

20. If the terms of a sale are F.O.B. shipping point, the sale should not be recorded until the goods are delivered to the buyer. 
True    False

 

21. Just-in-time inventory systems cannot be used in conjunction with LIFO. 
True    False

 

22. Companies with perpetual inventories need not take physical inventory counts because inventory amounts are perpetually available. 
True    False

 

23. The higher a company's inventory turnover rate, the higher its gross profit. 
True    False

 

24. A clothing store would logically have a higher inventory turnover rate than would a doughnut shop. 
True    False

 

25. Overstating the ending inventory will result in understating the cost of goods sold and overstating profits. 
True    False

 

 


Multiple Choice Questions
 

26. During the course of an audit of a company's financial statements, an auditor will be concerned that the company's inventory: 
A. Physically exists.
B. Is valued correctly.
C. Both physically exists and is valued correctly.
D. Is being stored in a secure manner.

 

27. Inventory: 
A. Consists of all goods owned and held for sale to customers.
B. Is a non-financial asset.
C. Both consists of all goods owned and held for sale to customers and is a non-financial asset.
D. Both consists of all goods owned and held for sale to customers and is a financial asset.

 

28. The lower of cost or market rule may be applied by comparing the market value of the inventory to the cost of the inventory based on: 
A. Individual inventory items.
B. Major inventory categories.
C. The entire inventory.
D. Any of the three: individual inventory items, major inventory categories, or the entire inventory.

 

29. Which of the following is not considered an acceptable inventory cost method according to GAAP? 
A. First-in, first-out.
B. First-in, last-out.
C. Last-in, first-out.
D. Average cost.

 

30. When prices are increasing, which inventory method will produce the highest cost of goods sold? 
A. FIFO.
B. LIFO.
C. Average.
D. Cost of goods sold will not change.

 

31. Kent Company has used the same inventory method for many years. This is an example of which principle? 
A. Matching.
B. Realization.
C. Cost.
D. Consistency.

 

32. Gross profit rate is equal to. 
A. Net sales divided by gross profit.
B. Gross sales divided by gross profit.
C. Gross profit divided by net sales.
D. Gross profit divided by gross sales.

 

33. In which of these inventory cost flow assumptions is it important to determine the actual cost of a particular inventory item being sold in order to determine cost of goods sold? 
A. LIFO.
B. FIFO.
C. Specific identification.
D. Weighted average.

 

34. In a perpetual inventory system, two entries are normally made to record each sales transaction. The purpose of these entries is best described as follows: 
A. One entry recognizes the sales revenue and the other recognizes the cost of goods sold.
B. One entry records the purchase of merchandise and the other records the sale.
C. One entry records the cost of goods sold and the other reduces the balance in the Inventory account.
D. One entry updates the subsidiary ledger and the other updates the general ledger.

 

35. Which of the four inventory cost flow assumptions is best suited to inventories of high-priced, low-volume items? 
A. LIFO.
B. FIFO.
C. Average.
D. Specific identification.

 

36. If the ending inventory is overstated in the current year: 
A. Net income will be understated in the current year.
B. Next year's beginning inventory will also be overstated.
C. Next year's net income will be overstated.
D. Next year's beginning inventory will be understated.

 

37. In a periodic inventory system, recording a sale on account involves debiting which of the following accounts? 
A. Only Accounts Receivable.
B. Accounts Receivable and Inventory.
C. Accounts Receivable and Cost of Goods Sold.
D. Accounts Receivable, Cost of Goods Sold, and Inventory.

 

38. In a periodic inventory system, recording a sale on account involves crediting which of the following accounts? 
A. Only Sales.
B. Sales and Inventory.
C. Sales and Cost of Goods Sold.
D. Sales, Inventory, and Cost of Goods Sold.

 

39. In a perpetual inventory system, an inventory flow assumption is used primarily for determining which costs to use in: 
A. Recording purchases of inventory.
B. Recording the cost of goods sold.
C. Recording sales revenue.
D. Forecasts of future operating results.

 

40. Which of the four inventory cost flow assumptions transfers the most recent purchase cost to the cost of goods sold and the remaining items in inventory are valued at the oldest acquisition costs? 
A. LIFO.
B. FIFO.
C. Average.
D. Specific identification.

 

41. If the beginning inventory of the current year and the ending inventory of the past year were overstated by the same amount: 
A. Retained earnings at the end of the current year would be correct.
B. Retained earnings at the end of the current year would be overstated.
C. Retained earnings at the end of the current year would be understated.
D. Net income for the current year would be correct.

 

42. Harris Corporation's inventory of a particular product includes 200 units purchased at a per-unit cost of $50, and another 100 units purchased at a unit cost of $60. If Harris sells 10 units of this product, the cost of goods sold will be: 
A. $500.
B. $550.
C. $660.
D. The answer will depend upon the inventory flow assumption in use.

 

43. During periods of inflation, when comparing LIFO with FIFO: 
A. LIFO inventory and cost of sales would be higher.
B. LIFO inventory and cost of sales would be lower.
C. LIFO inventory would be lower and cost of sales would be higher.
D. LIFO inventory would be higher and cost of sales would be lower.

 

44. The specific identification method is more appropriate than a flow assumption method: 
A. For a large inventory of identical low-priced items.
B. If each item in the inventory is unique.
C. If purchase costs are rising.
D. If purchase costs are falling.

 

45. When the LIFO costing method is in use, the seller: 
A. Must sell the most recently acquired units first.
B. Must sell the oldest unit in inventory first.
C. Assumes that the most recently acquired units are sold first.
D. Assumes that the oldest units in inventory are sold first.

 

46. Which of the following statements is not a characteristic of the LIFO method of pricing inventory? 
A. During a period of rising prices, LIFO tends to minimize the amounts of income taxes owed.
B. The cost of goods sold is measured in relatively current costs.
C. Inventory is valued at relatively current costs.
D. During a period of falling prices, LIFO tends to maximize the amounts of income taxes owed.

 

47. Which of the following will cause net income to be overstated for the following year? 
A. Current year's ending inventory is understated.
B. Current year's ending inventory is overstated.
C. Next year's beginning inventory is overstated.
D. Next year's ending inventory is understated.

 

48. Which of the following methods of measuring the cost of goods sold most closely parallels the actual physical flow of the merchandise? 
A. LIFO.
B. FIFO.
C. Average cost.
D. Specific identification.

 

49. In a perpetual inventory system, the flow of inventory cost is: 
A. First through the income statement, then through the balance sheet.
B. First through the balance sheet, then through the income statement.
C. Only through the balance sheet and not the income statement.
D. Only through the income statement and not the balance sheet.

 

50. Which of the following results in the cost of goods sold being stated at the most current acquisition costs? 
A. Average cost.
B. Specific identification.
C. FIFO.
D. LIFO.

 

51. Which of the following results in the inventory being stated at the most current acquisition costs? 
A. Specific identification.
B. LIFO.
C. FIFO.
D. Average cost.

 

52. During periods of inflation which method would yield the largest ending inventory and cost of goods sold? 
A. LIFO.
B. FIFO.
C. Average.
D. Specific identification.

 

53. The write-down of inventory: 
A. Only affects the balance sheet and not the income statement.
B. Only affects the income statement and not the balance sheet.
C. Affects both the income statement and the balance sheet.
D. Affects neither the income statement nor the balance sheet.

 

54. During a period of steadily falling prices, which of the following methods of measuring the cost of goods sold is likely to result in reporting the highest gross profit? 
A. Specific identification.
B. Average cost.
C. LIFO.
D. FIFO.

 

55. During a period of steadily falling prices, which of the following methods of measuring the cost of goods sold is likely to result in the lowest taxable income? 
A. LIFO.
B. FIFO.
C. Average cost.
D. Specific identification.

 

56. Which of the following inventory valuation methods is only an estimate of actual costs? 
A. The retail method.
B. The gross profit method.
C. Both retail and gross profit methods are only estimations.
D. Neither the retail nor the gross profit methods are estimations.

 

57. In a period of rising prices, a company is most likely to use the specific identification method of pricing inventory if: 
A. Each item in the inventory is unique.
B. Management wants the same unit cost assigned to items sold and items remaining in inventory.
C. Management's primary objective is to minimize income taxes.
D. Management wants the company's income statement to indicate the highest possible amounts of gross profit and net income.

 

58. During periods of inflation which method will yield the smallest ending inventory and the largest cost of goods sold? 
A. LIFO.
B. FIFO.
C. Average.
D. Specific identification.

 

59. In a period of rising prices, a company is most likely to use the FIFO method of pricing inventory if: 
A. Each item in the inventory is unique.
B. Management wants the same unit cost assigned to items sold and items remaining in inventory.
C. Management's primary objective is to minimize income taxes.
D. Management wants the company's income statement to indicate the highest possible amounts of gross profit and net income.

 

60. Which of the following inventory cost flow assumptions is not in accord with the physical flow of merchandise in most businesses? 
A. LIFO.
B. FIFO.
C. Specific identification.
D. Average.

 

61. A store that sells expensive custom-made jewelry is most likely to determine its cost of goods sold using: 
A. Specific identification.
B. Average cost.
C. First-in, first-out.
D. Last-in, last-out.

 

62. A company with a liquid inventory will have: 
A. A high inventory turnover and a high average number of days to sell inventory.
B. A high inventory turnover and a low average number of days to sell inventory.
C. A low inventory turnover and a high average number of days to sell inventory.
D. A low inventory turnover and a low average number of days to sell inventory.

 

63. The choice of inventory valuation method can help achieve each of the following independent goals, except: 
A. Reduce cost of merchandise acquired from suppliers.
B. Increase reported net income.
C. Increase the inventory turnover rate.
D. Reduce the amount of income taxes owed.

 

64. With respect to the valuation of inventory and measurement of the cost of goods sold, the principle of consistency means that the same method should be applied: 
A. In successive accounting periods.
B. By all companies in a given industry.
C. To all products in the inventory.
D. In financial statements and income tax returns.

 

65. In a manufacturing company, the "just-in-time" concept of inventory management is best illustrated by: 
A. Receiving deliveries of materials from suppliers just before the materials are used in the production process.
B. Completing the manufacturing process just before the deadline established by the customer.
C. An automated factory that reduces production time below that of other companies in the industry.
D. Selling finished products before they go out of style.

 

66. The "just-in-time" concept of inventory management is best illustrated by: 
A. A clothing manufacturer that sells all of its finished goods before they go out of style.
B. A defense contractor that completes its projects within the deadlines set by its customer (the federal government).
C. A pharmaceutical firm that consistently brings new products to market ahead of its competitors.
D. A homebuilder who has its suppliers deliver lumber and other building materials to the building site the night before these materials will be used by the company's construction crews.

 

67. The primary advantage of a just-in-time inventory system is: 
A. The amount of money tied up in inventory is minimized.
B. Customers are afforded a wider selection of merchandise available for immediate delivery.
C. The company is able to use the specific identification method of inventory pricing.
D. The risks of losing sales opportunities or of having to shut down manufacturing operations because of inventory shortages are minimized.

 

68. The principle of consistency states that: 
A. Companies are prohibited from ever changing their accounting methods.
B. Every company in the same industry must use the same accounting principle.
C. There must be a consistent blend to the accounting principles.
D. If changes in accounting principles are made, the reasons for the change and the effects on the company's net income must be disclosed.

 

69. From an accounting point of view, one implication of an effective just-in-time inventory system is that: 
A. Sales transactions must be recorded using on-line point-of-sale terminals.
B. Inventories are less material in dollar amount and alternative inventory flow assumptions will produce more similar results.
C. The cost of goods sold is significantly reduced.
D. Purchases of merchandise are recorded as cash payments are made, and sales transactions are recorded as cash is received.

 

70. As a result of taking an annual physical inventory, it usually is necessary in a perpetual inventory system to make an entry: 
A. Reducing assets and increasing the cost of goods sold.
B. Reducing assets and increasing liabilities.
C. Reducing the cost of goods sold.
D. Increasing assets and increasing the cost of goods sold.

 

71. If all things are equal, except one company uses LIFO during inflation and the other uses FIFO, then: 
A. The LIFO company will have a higher inventory turnover.
B. The FIFO company will have a higher inventory turnover.
C. The two companies will have the same inventory turnover.
D. Inventory valuation methods do not effect inventory turnover calculations.

 

72. An advocate of just-in-time inventory system would say: 
A. Maintain a large inventory selection for customers.
B. Leave extra time in order to make inventory deadlines.
C. Maintain a small inventory supply.
D. LIFO is preferred over FIFO.

 

73. The logic behind the lower-of-cost-or-market rule is: 
A. Inventory gradually becomes obsolete.
B. Inventory that is unsalable should be written down to zero (or its scrap value).
C. An asset is not worth more than it would cost the owner to replace it.
D. Inventory that is unsalable should be written down to its replacement cost.

 

74. Many companies state in their annual reports that inventory is shown at the lower of its cost or market value. This means that the inventory: 
A. Is obsolete.
B. Has been written down to a carrying value below cost.
C. Is shown at the lesser of cost or sales value.
D. Is valued at current replacement cost or historical cost, whichever is less.

 

75. The lower-of-cost-or-market rule: 
A. Is used in conjunction with the other inventory cost flow assumptions.
B. Cannot be used if LIFO or FIFO are also used.
C. Can be used in conjunction with LIFO but not FIFO.
D. Can only be used with the specific identification cost flow assumption.

 

76. Goods in transit between the buyer and the seller belong to: 
A. The seller.
B. The buyer.
C. The freight company.
D. The answer depends upon whether the goods were shipped F.O.B. shipping point or F.O.B. destination.

 

77. In a periodic inventory system, the cost of goods sold is determined as follows: 
A. Year-end inventory, plus purchases during the year, less the inventory at the beginning of the year.
B. Net sales, less the balance in the Gross Profit account.
C. Cost of goods available for sale during the year, less the ending inventory.
D. A physical count is made of all items sold throughout the year, and a cost flow assumption is applied at year-end.

 

78. During periods of rising prices, and being primarily concerned with tax implications, most companies would select: 
A. LIFO.
B. FIFO.
C. Specific identification.
D. The inventory valuation does not affect taxation.

 

79. For the purpose of delaying income taxes, during an inflationary period, which method would be best? 
A. LIFO.
B. FIFO.
C. Average.
D. Taxes would be the same under each assumption.

 

80. Some companies that use a perpetual inventory system and the LIFO flow assumption restate their inventories at year-end to the amount indicated by periodic LIFO costing procedures. The primary reason for this adjustment is that: 
A. Periodic LIFO often results in a higher valuation of inventory, thus reducing taxable income.
B. This adjustment is necessary to record shrinkage losses.
C. Periodic LIFO often results in a lower valuation of inventory, thus reducing taxable income.
D. Periodic and perpetual costing procedures produce the same results if the year-end inventory has been counted properly. No adjustment would be needed.

 

81. If the inventory at the end of the current year is understated and the error is never caught, the effect is to: 
A. Understate income this year and overstate income next year.
B. Overstate income this year and understate income next year.
C. Understate income this year with no effect on income next year.
D. Overstate the cost of goods sold, but have no effect on net income.

 

82. The CPA firm auditing Capri Corporation found that net income had been overstated. Which of the following could be the cause? 
A. Failure to take advantage of purchase discounts by paying within the discount period.
B. Overstatement of inventory at year-end.
C. Use of the last-in, first-out (LIFO) method of valuing inventory in a period of rising prices.
D. Failure to record payment of an account payable to a supplier on the last day of the year.

 

83. If an error in valuing inventory occurs in one year: 
A. It has no effect upon income in the following year.
B. It has no effect upon the income statement, only on the balance sheet.
C. It is self-correcting after two years.
D. Retained earnings will be adversely affected until corrected.

 

84. Companies with periodic inventory systems often use techniques such as the gross profit method and the retail method to: 
A. Prepare interim financial statements without taking a complete physical inventory.
B. Increase gross profit.
C. Value inventory at its sales price instead of its cost.
D. Reduce taxable income during a period of rising prices.

 

85. The inventory turnover rate provides an indication of how quickly the average quantity of inventory on hand: 
A. Spoils.
B. Sells.
C. Increases.
D. Converts into cash.

 

86. Busch, Inc. is a successful company, but has a lower inventory turnover rate than the industry average. Of the following, the most likely explanation is that Busch 
A. Has a just-in-time inventory system.
B. Uses LIFO (assume rising purchase costs).
C. Offers its customers an unusually large selection of merchandise.
D. Sells unusually popular items.

 

87. The gross profit method of valuing inventory: 
A. Is the most accurate of the commonly used methods.
B. Is a satisfactory substitute for taking a physical inventory for annual financial statements.
C. Assumes that the gross profit rate will remain the same for the current year as it has in the past year or so.
D. Is not an acceptable method under GAAP.

 

88. Short-term creditors are likely to view a higher-than-average inventory turnover rate as indicating that: 
A. A company is in financial difficulty.
B. The company is able to sell its inventory quickly.
C. The company probably has an excessive amount of inventory.
D. The company has a longer-than-average operating cycle.

 

89. Which of the following types of businesses would you expect to have the highest inventory turnover? 
A. An antique shop.
B. An electronics store.
C. A dairy store.
D. A boat manufacturer.

 

 Beech Soda, Inc. uses a perpetual inventory system. The company's beginning inventory of a particular product and its purchases during the month of January were as follows:
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On January 14, Beech Soda, Inc. sold 25 units of this product. The other 28 units remained in inventory at January 31.

 

90. Assuming that Beech Soda uses the FIFO flow assumption, the cost of goods sold to be recorded at January 14 is: 
A. $278.
B. $268.
C. $393.
D. $673.

 

91. Assuming that Beech Soda uses the LIFO flow assumption, the cost of goods sold to be recorded at January 14 is: 
A. $393.
B. $268.
C. $278.
D. $673.

 

92. Assuming that Beech Soda uses the average cost flow assumption, the cost of goods sold to be recorded at January 14 is (round cost per unit to nearest cent): 
A. $317.50.
B. $308.25.
C. $273.33
D. $673.00.

 

93. Assuming that Beech Soda uses the FIFO flow assumption, the 28 units of this product in inventory at January 31 have a total cost of: 
A. $400.
B. $395.
C. $405.
D. $410.

 

94. Assuming that Beech Soda uses the LIFO flow assumption, the 28 units of this product in inventory at January 31 have a total cost of: 
A. $400.
B. $395.
C. $405.
D. $410.

 

 At year-end, the perpetual inventory records of Anderson Co. indicate 60 units of a particular product in inventory, acquired at the following dates and unit costs:
Purchased in August: 30 units at $750 per unit.
Purchased in November: 30 units at $700 per unit.
A complete physical inventory taken at year-end indicates only 50 units of this product actually are on hand.

 

95. Assuming that Anderson uses the LIFO flow assumption, it should record this inventory shrinkage by: 
A. Debiting Cost of Goods Sold $7,000.
B. Crediting Cost of Goods Sold $7,500.
C. Debiting Cost of Goods Sold $7,500.
D. Crediting Cost of Goods Sold $7,000.

 

96. Assuming that Anderson uses the FIFO flow assumption, it should record this inventory shrinkage by: 
A. Crediting Cost of Goods Sold $7,500.
B. Debiting Cost of Goods Sold $7,000.
C. Crediting Cost of Goods Sold $7,000.
D. Debiting Cost of Goods Sold $7,500.

 

97. Under the FIFO flow assumption, the cost of these items to be included in inventory in the company's year-end balance sheet is: 
A. $36,000.
B. $36,500.
C. $42,000.
D. $37,500.

 

98. Under the LIFO flow assumption, the cost of this item to be included as inventory in the company's year-end balance sheet is: 
A. $36,000.
B. $42,000.
C. $36,500.
D. $37,500.

 

 At the end of last year, Games-2-Use had merchandise costing $140,000 in inventory. During January of the current year, the company purchased merchandise costing $102,000, and sold merchandise that it had purchased at a total cost of $84,000. Games-2-Use uses a perpetual inventory system.

 

99. The total amount debited to the Inventory account during January was: 
A. $0.
B. $84,000.
C. $102,000.
D. $140,000.

 

100. The balance in the Inventory account at January 31 was: 
A. $84,000.
B. $140,000.
C. $158,000.
D. $242,000.

 

101. The amount of goods transferred from the Inventory account to the Cost of Goods Sold account during January was: 
A. $0.
B. $84,000.
C. $102,000.
D. $56,000.

 

 Castle TV, Inc. purchased 1,000 monitors on January 5 at a per-unit cost of $185, and another 1,000 units on January 31 at a per-unit cost of $230. In the period from February 1 through year-end, the company sold 1,800 units of this product. At year-end, 200 units remained in inventory.

 

102. Assume that Castle TV, Inc. uses the FIFO flow assumption. The cost of the 200 units in inventory at year-end is: 
A. $41,500.
B. $46,000.
C. $37,000.
D. $83,000.

 

103. Assume that Castle TV, Inc. uses the LIFO flow assumption. The cost of the 200 units in the year-end inventory is: 
A. $37,000.
B. $46,000.
C. $41,500.
D. $83,000.

 

104. Assume that the replacement cost of this monitor at year-end is $220 per unit. Using the FIFO flow assumption and the lower-of-cost-or-market rule, Castle TV should write down the carrying value of this inventory by: 
A. $0.
B. $1,000.
C. $2,000.
D. $3,000.

 

105. Assume that the replacement cost of this monitor at year-end is $210 per unit. Using LIFO flow assumption and the lower-of-cost-or-market rule, the ending inventory amounts to: 
A. $46,000.
B. $42,000.
C. $37,000.
D. $83,000.

 

106. On Saturday, June 30, BD Pool Supplies sold merchandise to E. Luang on account. The sales price was $6,400, and the cost of goods sold was $5,300. The sales revenue was recorded immediately, but the entry recording the cost of goods sold was dated Monday, July 2. As a result, net income for June was: 
A. Overstated by $6,400.
B. Overstated by $5,300.
C. Overstated by $1,100.
D. Not affected, but the net income for July is understated.

 

 Harding Systems, Inc. uses a periodic inventory system. The purchases of a particular product during the year are shown below:
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At December 31 the ending inventory consisted of 1,500 units.

 

107. Compute the cost of the ending inventory based on the LIFO method of inventory valuation. 
A. $12,500.
B. $27,650.
C. $10,975
D. $29,175.

 

108. Compute the cost of goods sold for the current year based on the LIFO method of inventory valuation. 
A. $12,500.
B. $29,175.
C. $10,975.
D. $27,650

 

109. Compute the cost of the ending inventory based on the FIFO method of inventory valuation. 
A. $12,500.
B. $29,175.
C. $10,975.
D. $27,650.

 

110. Compute the cost of goods sold for the current year based on the FIFO method of inventory valuation. 
A. $12,500.
B. $29,175.
C. $10,975.
D. $27,650.

 

111. Compute the cost of the ending inventory based on the average-cost method of inventory valuation. (Rounded) 
A. $10,590.
B. $11,694.
C. $29,560.
D. $28,450.

 

112. Compute the cost of goods sold for the current year based on the average- cost method of inventory valuation. 
A. $10,590.
B. $11,700.
C. $29,560.
D. $28,450.

 

 Venus Wholesale Co. started carrying a new product in December. Purchases and sales of this product during the month were:
 [image: image3.wmf] 

 

113. Assuming the LIFO flow assumption is in use, the perpetual inventory records will indicate an ending inventory of this product of: 
A. $9,800.
B. $10,600.
C. $10,800.
D. $8,000.

 

114. At year-end, Venus restates the carrying value of its inventory using periodic LIFO costing procedures. Under periodic costing procedures, the LIFO cost of the inventory is: 
A. $9,800.
B. $10,600.
C. $10,800.
D. $8,000.

 

115. For the last several years Conway Corporation has operated with a gross profit rate of 40%. On January 1 of the current year the company had on hand inventory with a cost of $600,000. Purchases of merchandise during January amounted to $150,000, and sales for the month were $360,000. Using the gross profit method, what is the estimated inventory at January 31? 
A. $144,000.
B. $216,000.
C. $360,000.
D. $534,000.

 

116. During January, Sundown Corporation had sales of $300,000 and a cost of goods available for sale of $600,000. The company consistently earns a gross profit rate of 45%. Using the gross profit method, the estimated inventory at January 31 amounts to: 
A. $135,000.
B. $435,000.
C. $165,000.
D. $465,000.

 

117. Colonial uses the retail method to estimate its monthly cost of goods sold and month-end inventory. At August 31, the accounting records indicate the cost of goods available for sale during the month (beginning inventory plus purchases) totaled $270,000. These goods had been priced for resale at $675,000. Sales in August totaled $450,000. The estimated inventory at August 31 is: 
A. $48,000.
B. $90,000.
C. $120,000.
D. $270,000.

 

118. Garden World uses the retail method to estimate its monthly cost of goods sold and month-end inventory. At May 31, the accounting records indicate the cost of goods available for sale during the month (beginning inventory plus purchases) totaled $540,000. These goods had been priced for resale at $900,000. Sales in May totaled $480,000. The estimated inventory at May 31 is: 
A. $540,000.
B. $252,000.
C. $420,000.
D. $288,000.

 

 During the current year, Carl Equipment Stores had net sales of $600 million, a cost of goods sold of $500 million, average accounts receivable of $75 million, and average inventory of $50 million.

 

119. Carl Equipment's inventory turnover rate is: 
A. 6.7 times.
B. 10 times.
C. 12 times.
D. 1.2 times.

 

120. Assuming a 365-day year, the number of days required for Carl Equipment to convert its average inventory into cash is: 
A. 36.5.
B. 73.0.
C. 24.3.
D. 304.2.

 

 During the current year, Carl Equipment Stores had net sales of $500 million, a cost of goods sold of $400 million, average accounts receivable of $60 million, and average inventory of $50 million.

 

121. Carl Equipment's inventory turnover rate is: 
A. 6.7 times.
B. 8 times.
C. 10 times.
D. 1.25 times.

 

122. Assuming a 365-day year, the number of days required for Carl Equipment to convert its average inventory into cash is: 
A. 36.5.
B. 45.6.
C. 54.4.
D. 292.

 

 Midwest Office Products uses the retail method to estimate ending inventory in its monthly financial statements. The following information is available for the month ended May 31:
 [image: image4.wmf] 

 

123. Determine the cost ratio that should be used in estimating the May 31 inventory using the retail method. 
A. 63.8%.
B. 69.4%
C. 66.0%.
D. 68.4%.

 

124. Estimate the cost of the May 31 inventory using the retail method. 
A. $116,964.
B. $137,400.
C. $150,425.
D. $204,000.

 

125. Estimate the cost of goods sold for May using the retail method. 
A. $137,400.
B. $150,400.
C. $205,236.
D. $319,600.

 

 Soriano Company had net sales of $300,000 for the month (after returns and allowances of $1,500 and sales discounts of $3,250). Beginning inventory for the month was $60,000; purchases for the month were $175,000; and gross profit was 43%.

 

126. What were the gross sales for the month? 
A. $129,000.
B. $171,000.
C. $300,000.
D. $304,750.

 

127. What were the goods available for sale for the month? 
A. $129,000.
B. $171,000.
C. $235,000.
D. $304,750.

 

128. What was the gross profit for the month? 
A. $129,000.
B. $171,000.
C. $235,000.
D. $304,750.

 

129. What was the cost of goods sold for the month? 
A. $129,000.
B. $171,000.
C. $235,000.
D. $304,750.

 

130. What was the ending inventory for the month? 
A. $60,000.
B. $64,000.
C. $129,000.
D. $175,000.

 

 


Essay Questions
 

131. Accounting terminology
Listed below are nine technical accounting terms introduced in this chapter:
Just-in-time
Average-cost method
LIFO method
Gross profit method
Inventory shrinkage
FIFO method
Retail method
Inventory turnover
Each of the following statements may (or may not) describe one of these technical terms. In the space provided below each statement, indicate the accounting term described, or answer "None" if the statement does not correctly describe any of the terms.
_____ a. The flow assumptions in which the oldest units purchased are assumed to have remained in inventory. 
_____ b. A method of estimating the cost of goods sold and ending inventory based upon cost relationships from prior periods.
_____ c. The practice of valuing inventory in the balance sheet at expected sales prices, rather than at cost.
_____ d. An inventory flow assumption involving only one "cost layer."
_____ e. The inventory flow assumption likely to result in the highest reported amount of gross profit during a period of rising prices.
_____ f. A technique for minimizing a company's investment in inventory, particularly inventories of raw materials and finished goods.
_____ g. A measure of a company's ability to sell its inventory quickly. 


 


 


 

 

132. Inventory flow assumptions 
Flat TV uses a perpetual inventory system. Shown below are Flat TV's beginning inventory of a particular product and purchases during January:
 [image: image5.wmf] 
On January 23 (prior to the purchase on January 25), Flat TV sold 13 units of this product.
Determine the cost of goods sold relating to the sale on January 23 under each of the following flow assumptions. (Show your computations.)
 [image: image6.wmf]  


 


 


 

 

133. Inventory flow assumptions
The perpetual inventory records of Handy Hardware show 150 units of a particular product on hand, acquired at the following dates and costs:
 [image: image7.wmf] 
On June 3, Handy sold 120 units of this product.
Instructions: Prepare a journal entry to record the cost of goods sold relating to the sale on June 3, assuming that Handy uses:
(a) A LIFO flow assumption.
(b) A FIFO flow assumption.
(c) The average cost (or moving average) flow assumption.
 [image: image8.wmf]  


 


 


 

 

134. Inventory flow assumptions
Arrow, Inc. uses a perpetual inventory system. On January 22, 2010, the company had 200 units of a particular product on hand, with a total cost of $2,400. The per-unit costs were:
 [image: image9.wmf] 
On January 24, 2010, Arrow sold 65 units of this product.
Using the three flow assumptions listed below, compute (1) the cost of goods sold, and (2) the cost of the inventory of this product on hand after this sale. Show your computations.
 [image: image10.wmf]  


 


 


 

 

135. Comparison of LIFO and FIFO
Company X and Company Y sell the same product. The cost of this product has been rising steadily throughout the year. Both companies reported the same net income for the year, although Company X used the first-in, first-out method of pricing inventory, while Company Y used the last-in, first-out method.
(a) Which company's valuation of ending inventory in the balance sheet is more likely to approximate replacement cost? 
Company ______________________________
(b) Which company reports a cost of goods sold figure in the current year income statement that is more likely to reflect the replacement cost of the units sold?
Company ______________________________
(c) Which company is minimizing income taxes it must pay?
Company ______________________________
(d) Which company would have reported the higher net income if both companies had used the same method of pricing inventory?
Company ______________________________ 


 


 


 

 

136. Shrinkage losses
At year-end, the perpetual inventory records of James Products indicate 105 units of a particular product in inventory, acquired at the following dates and unit costs:
 [image: image11.wmf] 
A complete physical inventory taken at year-end indicates only 93 units of this product actually are on hand.
Determine the dollar amount of the shrinkage loss assuming that James uses:
 [image: image12.wmf]  


 


 


 

 

137. Lower-of-cost-or-market
Elite Systems sells a single product. At December 31, the company's perpetual inventory records indicate 2,500 units on hand with a total cost (FIFO basis) of $155,000. The replacement cost of this product at this date is $35 per unit.
Prepare journal entries to record (a) the write-down of the inventory to the lower-of-cost-or-market value at December 31, and (b) the cash sale of 100 units on January 4 at a retail price of $50 per unit.
 [image: image13.wmf] 
(a) Dec. 31
(b) Jan. 4 


 


 


 

 

138. Periodic inventory systems
Funky Fashions uses a periodic inventory system. The beginning inventory of a particular product, and the purchases during the current year, were as follows:
 [image: image14.wmf] 
At December 31, the ending inventory of this product consisted of 1,300 units.
Determine the cost of the year-end inventory and the cost of goods sold for this product under each of the following methods of inventory valuation:
 [image: image15.wmf]  


 


 


 

 

139. Periodic inventory systems
Tres Chic uses a periodic inventory system. The beginning inventory of a particular product, and the purchases during the current year, were as follows:
 [image: image16.wmf] 
At December 31, the ending inventory of this product consisted of 850 units.
Determine the cost of the year-end inventory and the cost of goods sold for this product under each of the following methods of inventory valuation (Rounded):
 [image: image17.wmf]  


 


 


 

 

140. Effects of errors in inventory valuation
Show the effect, if any, of each of the following errors on ending inventory, cost of goods sold, gross profit on sales, and net income by placing the appropriate symbol in each column. In use is the periodic inventory system. Use the following symbols: O = Overstated, U = Understated, NE = No Effect.
 [image: image18.wmf]  


 


 


 

 

141. Gross profit method
Horizon Company had sales of $1,750,000 during the current period and a gross profit rate of 40%. The company's cost of goods available for sale during the period was $1,400,000. The company's ending inventory must have amounted to $_______________. 


 


 


 

 

142. Gross profit method
On April 30, Greenfield Sales, Inc. lost its entire inventory in a flood. The following information is available from the company's accounting records, which were recovered from the waterproof safe:
 [image: image19.wmf] 
The gross profit of Greenfield Sales, Inc. over the past several years has consistently averaged 35% of net sales. Using the gross profit method, estimate the cost of the inventory lost in the flood on April 30. 


 


 


 

 

143. Gross profit method
The Walnut Shop is a furniture company that uses a periodic inventory system. On February 8, 2009, a fire destroyed all the furniture on display in the company's main showroom. Fortunately, $35,000 of the company's inventory was located in a separate warehouse and was not damaged by the fire.
Walnut Shop now is attempting to determine the cost of the merchandise destroyed in the fire from the following information:
 [image: image20.wmf] 
Compute the following (show computations):
 [image: image21.wmf]  


 


 


 

 

144. Retail method
Omega Signs uses the retail method to estimate ending inventory in its monthly financial statements. The following information is available for the month ended April 30:
 [image: image22.wmf] 
Using the retail method:
 [image: image23.wmf]  


 


 


 

 

145. Retail method
Global Office Supply uses the retail method to estimate ending inventory in its monthly financial statements. The following information is available for the month ended July 31:
 [image: image24.wmf] 
Using the retail method:
 [image: image25.wmf]  


 


 


 

 

146. Inventory turnover
In the spaces provided, indicate the likely effect of each of the following events or strategies upon the inventory turnover rate in the coming period. Use the following code letters: I for Increase, D for Decrease, and NE for No Effect.
____ (a) Reduced sales prices in order to increase sales volume.
____ (b) Ordered substantially larger amounts of merchandise in order to receive a volume discount from the supplier.
____ (c) Switched from the FIFO flow assumptions to LIFO during a period of rising prices.
____ (d) Placed sales clerks on commission, rather than a fixed monthly salary.
____ (e) Decided to offer customers a wider selection of merchandise available for immediate delivery. 


 


 


 

 

147. Inventory turnover
In the spaces provided, indicate the likely effect of each of the following events or strategies upon the inventory turnover rate. Use the following code letters: I for Increase, D for Decrease, and NE for No Effect.
____ (a) Switched from the LIFO flow assumption to FIFO during a period of rising prices.
____ (b) Dramatically increased advertising expense.
____ (c) Increased the sales price of merchandise that is so popular it is difficult to keep in stock.
____ (d) Implemented internal control procedures to reduce a serious inventory shrinkage problem.
____ (e) Switched from a restrictive credit policy to offering liberal terms to credit customers. 


 


 


 

 

148. Inventory flow assumptions
Briefly discuss the factors management should consider in deciding:
(a) Whether to use specific identification or a flow assumption in measuring the cost of goods sold.
(b) Whether to use FIFO or LIFO. (Assume a long-run trend of slowly rising prices.) 


 


 


 

 

149. Retail method
Many large retailers take a physical inventory near year-end and state in their annual report that inventory has been valued by the "retail method." What does this mean? (Your answer should address [1] whether inventory is valued in the financial statements at cost or retail prices, and [2] how this dollar amount is determined.) 


 


 


 

 

150. The Valley Garden Company had the following transactions:
 [image: image26.wmf] 
(A) Prepare journal entries for Valley Garden assuming the Company uses the gross method when accounting for purchases and a perpetual inventory.
(B) Prepare journal entries for Valley Garden assuming the Company uses the gross method and a periodic inventory. 


 


 


 

 

151. The Multi-Tech Company uses the gross profit method to estimate inventories. Fill in the missing amounts.
 [image: image27.wmf]  


 


 


 

 

 


Multiple Choice Questions
 

152. The primary purpose of an inventory flow assumption is to: 
A. Increase inventory turnover.
B. Increase gross profit.
C. Determine which unit costs are assigned to inventory and which are assigned to the cost of goods sold.
D. Minimize taxable income during periods of rising prices.

 

153. During a period of steadily rising prices, which of the following inventory valuation methods is likely to result in the lowest cost of goods sold? 
A. LIFO.
B. FIFO.
C. The retail method.
D. The gross profit method.

 

154. The primary reason for the popularity of the LIFO flow assumption is that this method: 
A. Is most appropriate when each item in inventory is unique.
B. Tends to minimize taxable income.
C. Causes inventory to be reported at or near its current replacement cost.
D. Reduces the amount of money "tied up" in inventory.

 

155. In a periodic inventory system, the cost of goods sold is determined by: 
A. Multiplying net sales for the period by a cost ratio.
B. Journal entries made at the time of each sales transaction.
C. Physically counting the quantities of merchandise sold each day, and determining the cost of these items at year-end.
D. Subtracting the cost assigned to the ending inventory from the cost of goods available for sale during the period.

 

156. Salerno Co. has an inventory turnover rate of 7 and an accounts receivable turnover rate of 5. Assuming 365 days in a year, the period of time required for Salerno to convert its inventory into cash through normal business operations is approximately: 
A. 21 days.
B. 52 days.
C. 4 months.
D. 2.5 months.

 

 Ace Systems, Inc. uses a perpetual inventory system. The company's beginning inventory of a particular product and its purchases during the month of January were as follows:
 [image: image28.wmf] 
On January 28, Ace Systems sells 18 units of this product. The other 12 units remain in inventory at January 31.

 

157. Assuming that Ace Systems uses the average cost flow assumption, the cost of goods sold to be recorded at January 28 is: 
A. $504.
B. $336.
C. $499.
D. Some other amount.

 

158. Assuming that Ace Systems uses the LIFO flow assump​tion, the cost of goods sold on January 28 is: 
A. $331.
B. $509.
C. $499.
D. Some other amount.

 

159. Assuming that Ace Systems uses the FIFO flow assump​tion, the cost of goods sold on January 28 is: 
A. $509.
B. $341.
C. $499.
D. Some other amount.

 

160. Assuming that Ace Systems uses the LIFO flow assump​tion, the 12 units of this product in inventory at January 31 have a total cost of: 
A. $499.
B. $331.
C. $509.
D. Some other amount.

 

161. Assuming that Ace Systems uses the FIFO flow assump​tion, the 12 units of this product in inventory at January 31 have a total cost of: 
A. $341
B. $509.
C. $499.
D. Some other amount.

 

 


Essay Questions
 

 Canfield uses a perpetual inventory system. The company's beginning inventory of a particular product and its purchases during the month of January were as follows:
 [image: image29.wmf] 
On January 25, Canfield sells 55 units of this product. The other 45 units remain in inventory at January 31.

 

162. Determine the cost of goods sold using each of the following flow assumptions:
(1) LIFO $_____________
(2) FIFO $_____________
(3) Average cost $_____________ 


 


 


 

 

163. Determine the cost of the 45 units in inventory at January 31 using each of the following flow assumptions:
(1) LIFO $_____________
(2) FIFO $_____________
(3) Average cost $_____________ 


 


 


 

 

164. Sherman Electric uses a periodic inventory system. The beginning inventory of a particular product, and the purchases during the current year, were as follows:
 [image: image30.wmf] 
At December 31, the ending inventory of this product consisted of 65 units.
Using periodic costing procedures, determine (1) cost of the year-end inventory and, (2) cost of goods sold relating to this product under each of the following flow assumptions:
 [image: image31.wmf]  


 


 


 

 

 


Multiple Choice Questions
 

165. The primary purpose for using an inventory flow assumption is to: 
A. Parallel the physical flow of units of merchandise.
B. Offset against revenue an appropriate cost of goods sold.
C. Minimize income taxes.
D. Maximize the reported amount of net income.

 

166. Ace Auto Supply uses a perpetual inventory record. On March 10, the company sells two Shelby four-barrel carburetors. Immediately prior to this sale, the perpetual inventory records indicate three of these carburetors on hand, as shown below:
 [image: image32.wmf] 
With respect to the sale on March 10: (More than one of the following answers may be correct.) 
A. If the average cost method is used, the cost of goods sold is $460.
B. If these carburetors have identification num​bers, Ace must use the specific identification method in determining the cost of goods sold.
C. If the company uses LIFO, the cost of goods sold will be $15 higher than if it were using FIFO.
D. If the company uses LIFO, the carburetor remaining in inventory after the sales will be assumed to have cost $220.

 

167. T-Shirt City uses a periodic inventory system. During the first year of operations, the company made four purchases of a particular product. Each purchase was for 500 units and the prices were: $9 per unit in the first purchase, $10 per unit in the second purchase, $12 per unit in the third purchase, and $13 per unit in the fourth purchase. At year-end, 650 of these units remained unsold. Compute the cost of goods sold under the FIFO method and LIFO method, respectively. 
A. $13,700 (FIFO) and $16,000 (LIFO).
B. $8,300 (FIFO) and $6,000 (LIFO).
C. $16,000 (FIFO) and $13,700 (LIFO).
D. $6,000 (FIFO) and $8,300 (LIFO).

 

168. Trent Department Store uses a perpetual inventory system but adjusts its inventory records at year-end to reflect the results of a complete physical inventory. In the physical inventory taken at the ends of 2010 and 2011, Trent's employees failed to count the merchandise in the store's window display. The cost of this merchandise amounted to $13,000 at the end of 2010, and $19,000 at the end of 2011. As a result of these errors, the cost of goods sold for 2005 will be: 
A. Understated by $19,000.
B. Overstated by $6,000.
C. Understated by $6,000.
D. None of the above.

 

169. In July 2011, the accountant for LBJ Imports is in the process of preparing financial statements for the quarter ended June 30, 2011. The physical inventory, however, was last taken on June 5 and the accountant must establish the approximate cost at June 30 from the following data:
 [image: image33.wmf] 
The gross profit on sales has consistently averaged 40% of sales. Using the gross profit method, compute the approximate inventory cost at June 30, 2011. 
A. $420,000.
B. $880,000.
C. $480,000.
D. $1,360,000.

 

170. Allied Products maintains a large inventory. The company has used the LIFO inventory method for many years, during which the purchase costs of its products have risen substantially. (More than one of the following answers may be correct.) 
A. Allied would have reported a higher net income in past years if it had been using the average cost method.
B. Allied's financial statements imply a lower inventory turnover rate than they would if the company were using FIFO.
C. If Allied were to let its inventory fall far below normal levels, the company's gross profit rate would decline.
D. Allied would have paid more income taxes in past years if it had been using the FIFO method.

 

Chapter 08 Inventories and the Cost of Goods Sold Answer Key
 

  


True / False Questions
 

1. When goods for sale are not homogeneous in nature, it is not necessary to use the specific identification method of accounting for inventory. 
TRUE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Easy
Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
2. An advantage of the average cost method of accounting for inventory is that the inventory is valued in the balance sheet at current replacement costs. 
FALSE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
3. An advantage to the LIFO method of accounting for inventory is that it values the cost of goods sold at current replacement costs. 
TRUE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Easy
Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
4. A write down of inventory due to obsolescence reduces the amount in the Inventory account and may increase the amount in the Cost of Goods Sold account. 
TRUE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-03 Record shrinkage losses and other year-end adjustments to inventory.
Topic: Taking a Physical Inventory
 
5. Merchandise that has been sold but not yet recorded in the accounts should not be included in the physical inventory at year-end. 
TRUE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Easy
Learning Objective: 08-05 Explain the effects on the income statement of errors in inventory valuation.
Topic: Taking a Physical Inventory
 
6. Merchandise sold F.O.B. destination belongs to the buyer while in transit. 
FALSE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Easy
Learning Objective: 08-03 Record shrinkage losses and other year-end adjustments to inventory.
Topic: Taking a Physical Inventory
 
7. In a periodic system, the only account in regard to inventory that is kept up-to-date is the inventory account. 
FALSE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Easy
Learning Objective: 08-04 In a periodic inventory system; determine the ending inventory and the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO.
Topic: Taking a Physical Inventory
 
8. The inventory turnover rate is equal to the average inventory divided by the cost of goods sold. 
FALSE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-07 Compute the inventory turnover and explain its uses.
Topic: Financial Analysis and Decision Making
 
9. The retail inventory method would never be used if a company uses the FIFO method. 
FALSE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-06 Estimate the cost of goods sold and ending inventory by the gross profit method and by the retail method.
Topic: Taking a Physical Inventory
 
10. During periods of inflation, the LIFO cost flow assumption will yield a lower inventory value than FIFO. 
TRUE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
11. Any business that sells numerous units of identical products may determine its cost of goods sold using a flow assumption, rather than the specific identification method. 
TRUE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
12. During periods of inflation, the specific identification cost flow assumption will yield a higher cost of goods sold than LIFO. 
FALSE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
13. The cost flow assumption selected by a company must correspond to the actual physical movement of the company's merchandise. 
FALSE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Easy
Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
14. A perpetual inventory system eliminates the need for periodically taking a physical inventory. 
FALSE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Easy
Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
15. Because of the consistency principle, inventory should never be written down below cost. 
FALSE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-03 Record shrinkage losses and other year-end adjustments to inventory.
Topic: Taking a Physical Inventory
 
16. In a perpetual inventory system, the flow of inventory cost is first through the balance sheet then through the income statement. 
TRUE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
17. The principle of consistency prohibits a company from changing an inventory valuation method once one is selected. 
FALSE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
18. In a periodic inventory system, understating the amount of ending inventory will cause an understatement of gross profit in the current year. 
TRUE

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-04 In a periodic inventory system; determine the ending inventory and the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO.
Topic: Taking a Physical Inventory
 
19. In a periodic inventory system, overstating the amount of ending inventory will cause an understatement of gross profit in the following year. 
TRUE

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-04 In a periodic inventory system; determine the ending inventory and the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO.
Topic: Taking a Physical Inventory
 
20. If the terms of a sale are F.O.B. shipping point, the sale should not be recorded until the goods are delivered to the buyer. 
FALSE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Easy
Learning Objective: 08-05 Explain the effects on the income statement of errors in inventory valuation.
Topic: Taking a Physical Inventory
 
21. Just-in-time inventory systems cannot be used in conjunction with LIFO. 
FALSE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
22. Companies with perpetual inventories need not take physical inventory counts because inventory amounts are perpetually available. 
FALSE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-02 Explain the need for taking a physical inventory.
Topic: Taking a Physical Inventory
 
23. The higher a company's inventory turnover rate, the higher its gross profit. 
FALSE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-07 Compute the inventory turnover and explain its uses.
Topic: Financial Analysis and Decision Making
 
24. A clothing store would logically have a higher inventory turnover rate than would a doughnut shop. 
FALSE

 


AACSB: Reflective Thinking
AICPA BB: Industry
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-07 Compute the inventory turnover and explain its uses.
Topic: Financial Analysis and Decision Making
 
25. Overstating the ending inventory will result in understating the cost of goods sold and overstating profits. 
TRUE

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-05 Explain the effects on the income statement of errors in inventory valuation.
Topic: Taking a Physical Inventory
 
 


Multiple Choice Questions
 

26. During the course of an audit of a company's financial statements, an auditor will be concerned that the company's inventory: 
A. Physically exists.
B. Is valued correctly.
C. Both physically exists and is valued correctly.
D. Is being stored in a secure manner.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-02 Explain the need for taking a physical inventory.
Topic: Taking a Physical Inventory
 
27. Inventory: 
A. Consists of all goods owned and held for sale to customers.
B. Is a non-financial asset.
C. Both consists of all goods owned and held for sale to customers and is a non-financial asset.
D. Both consists of all goods owned and held for sale to customers and is a financial asset.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Easy
Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
28. The lower of cost or market rule may be applied by comparing the market value of the inventory to the cost of the inventory based on: 
A. Individual inventory items.
B. Major inventory categories.
C. The entire inventory.
D. Any of the three: individual inventory items, major inventory categories, or the entire inventory.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-05 Explain the effects on the income statement of errors in inventory valuation.
Topic: Taking a Physical Inventory
 
29. Which of the following is not considered an acceptable inventory cost method according to GAAP? 
A. First-in, first-out.
B. First-in, last-out.
C. Last-in, first-out.
D. Average cost.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Easy
Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
30. When prices are increasing, which inventory method will produce the highest cost of goods sold? 
A. FIFO.
B. LIFO.
C. Average.
D. Cost of goods sold will not change.

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
31. Kent Company has used the same inventory method for many years. This is an example of which principle? 
A. Matching.
B. Realization.
C. Cost.
D. Consistency.
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AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
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Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
32. Gross profit rate is equal to. 
A. Net sales divided by gross profit.
B. Gross sales divided by gross profit.
C. Gross profit divided by net sales.
D. Gross profit divided by gross sales.
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AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Easy
Learning Objective: 08-06 Estimate the cost of goods sold and ending inventory by the gross profit method and by the retail method.
Topic: Taking a Physical Inventory
 
33. In which of these inventory cost flow assumptions is it important to determine the actual cost of a particular inventory item being sold in order to determine cost of goods sold? 
A. LIFO.
B. FIFO.
C. Specific identification.
D. Weighted average.
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Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
34. In a perpetual inventory system, two entries are normally made to record each sales transaction. The purpose of these entries is best described as follows: 
A. One entry recognizes the sales revenue and the other recognizes the cost of goods sold.
B. One entry records the purchase of merchandise and the other records the sale.
C. One entry records the cost of goods sold and the other reduces the balance in the Inventory account.
D. One entry updates the subsidiary ledger and the other updates the general ledger.
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AICPA FN: Measurement
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Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
35. Which of the four inventory cost flow assumptions is best suited to inventories of high-priced, low-volume items? 
A. LIFO.
B. FIFO.
C. Average.
D. Specific identification.
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Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
36. If the ending inventory is overstated in the current year: 
A. Net income will be understated in the current year.
B. Next year's beginning inventory will also be overstated.
C. Next year's net income will be overstated.
D. Next year's beginning inventory will be understated.
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AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-05 Explain the effects on the income statement of errors in inventory valuation.
Topic: Taking a Physical Inventory
 
37. In a periodic inventory system, recording a sale on account involves debiting which of the following accounts? 
A. Only Accounts Receivable.
B. Accounts Receivable and Inventory.
C. Accounts Receivable and Cost of Goods Sold.
D. Accounts Receivable, Cost of Goods Sold, and Inventory.
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AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Easy
Learning Objective: 08-04 In a periodic inventory system; determine the ending inventory and the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO.
Topic: Taking a Physical Inventory
 
38. In a periodic inventory system, recording a sale on account involves crediting which of the following accounts? 
A. Only Sales.
B. Sales and Inventory.
C. Sales and Cost of Goods Sold.
D. Sales, Inventory, and Cost of Goods Sold.
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AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
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Learning Objective: 08-04 In a periodic inventory system; determine the ending inventory and the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO.
Topic: Taking a Physical Inventory
 
39. In a perpetual inventory system, an inventory flow assumption is used primarily for determining which costs to use in: 
A. Recording purchases of inventory.
B. Recording the cost of goods sold.
C. Recording sales revenue.
D. Forecasts of future operating results.
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AICPA FN: Measurement
Bloom's: Understand
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Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
40. Which of the four inventory cost flow assumptions transfers the most recent purchase cost to the cost of goods sold and the remaining items in inventory are valued at the oldest acquisition costs? 
A. LIFO.
B. FIFO.
C. Average.
D. Specific identification.
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AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
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Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
41. If the beginning inventory of the current year and the ending inventory of the past year were overstated by the same amount: 
A. Retained earnings at the end of the current year would be correct.
B. Retained earnings at the end of the current year would be overstated.
C. Retained earnings at the end of the current year would be understated.
D. Net income for the current year would be correct.
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AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-05 Explain the effects on the income statement of errors in inventory valuation.
Topic: Taking a Physical Inventory
 
42. Harris Corporation's inventory of a particular product includes 200 units purchased at a per-unit cost of $50, and another 100 units purchased at a unit cost of $60. If Harris sells 10 units of this product, the cost of goods sold will be: 
A. $500.
B. $550.
C. $660.
D. The answer will depend upon the inventory flow assumption in use.
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AICPA FN: Measurement
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Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
43. During periods of inflation, when comparing LIFO with FIFO: 
A. LIFO inventory and cost of sales would be higher.
B. LIFO inventory and cost of sales would be lower.
C. LIFO inventory would be lower and cost of sales would be higher.
D. LIFO inventory would be higher and cost of sales would be lower.
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AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
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Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
44. The specific identification method is more appropriate than a flow assumption method: 
A. For a large inventory of identical low-priced items.
B. If each item in the inventory is unique.
C. If purchase costs are rising.
D. If purchase costs are falling.
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Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
45. When the LIFO costing method is in use, the seller: 
A. Must sell the most recently acquired units first.
B. Must sell the oldest unit in inventory first.
C. Assumes that the most recently acquired units are sold first.
D. Assumes that the oldest units in inventory are sold first.
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AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
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Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
46. Which of the following statements is not a characteristic of the LIFO method of pricing inventory? 
A. During a period of rising prices, LIFO tends to minimize the amounts of income taxes owed.
B. The cost of goods sold is measured in relatively current costs.
C. Inventory is valued at relatively current costs.
D. During a period of falling prices, LIFO tends to maximize the amounts of income taxes owed.
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AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
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Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
47. Which of the following will cause net income to be overstated for the following year? 
A. Current year's ending inventory is understated.
B. Current year's ending inventory is overstated.
C. Next year's beginning inventory is overstated.
D. Next year's ending inventory is understated.

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-05 Explain the effects on the income statement of errors in inventory valuation.
Topic: Taking a Physical Inventory
 
48. Which of the following methods of measuring the cost of goods sold most closely parallels the actual physical flow of the merchandise? 
A. LIFO.
B. FIFO.
C. Average cost.
D. Specific identification.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
49. In a perpetual inventory system, the flow of inventory cost is: 
A. First through the income statement, then through the balance sheet.
B. First through the balance sheet, then through the income statement.
C. Only through the balance sheet and not the income statement.
D. Only through the income statement and not the balance sheet.
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AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
50. Which of the following results in the cost of goods sold being stated at the most current acquisition costs? 
A. Average cost.
B. Specific identification.
C. FIFO.
D. LIFO.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
51. Which of the following results in the inventory being stated at the most current acquisition costs? 
A. Specific identification.
B. LIFO.
C. FIFO.
D. Average cost.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
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Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
52. During periods of inflation which method would yield the largest ending inventory and cost of goods sold? 
A. LIFO.
B. FIFO.
C. Average.
D. Specific identification.
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AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
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Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
53. The write-down of inventory: 
A. Only affects the balance sheet and not the income statement.
B. Only affects the income statement and not the balance sheet.
C. Affects both the income statement and the balance sheet.
D. Affects neither the income statement nor the balance sheet.
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AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-03 Record shrinkage losses and other year-end adjustments to inventory.
Topic: Taking a Physical Inventory
 
54. During a period of steadily falling prices, which of the following methods of measuring the cost of goods sold is likely to result in reporting the highest gross profit? 
A. Specific identification.
B. Average cost.
C. LIFO.
D. FIFO.
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AICPA FN: Measurement
Bloom's: Understand
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Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
55. During a period of steadily falling prices, which of the following methods of measuring the cost of goods sold is likely to result in the lowest taxable income? 
A. LIFO.
B. FIFO.
C. Average cost.
D. Specific identification.
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Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
56. Which of the following inventory valuation methods is only an estimate of actual costs? 
A. The retail method.
B. The gross profit method.
C. Both retail and gross profit methods are only estimations.
D. Neither the retail nor the gross profit methods are estimations.
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AICPA FN: Measurement
Bloom's: Understand
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Learning Objective: 08-06 Estimate the cost of goods sold and ending inventory by the gross profit method and by the retail method.
Topic: Taking a Physical Inventory
 
57. In a period of rising prices, a company is most likely to use the specific identification method of pricing inventory if: 
A. Each item in the inventory is unique.
B. Management wants the same unit cost assigned to items sold and items remaining in inventory.
C. Management's primary objective is to minimize income taxes.
D. Management wants the company's income statement to indicate the highest possible amounts of gross profit and net income.
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AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
58. During periods of inflation which method will yield the smallest ending inventory and the largest cost of goods sold? 
A. LIFO.
B. FIFO.
C. Average.
D. Specific identification.
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AICPA FN: Measurement
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Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
59. In a period of rising prices, a company is most likely to use the FIFO method of pricing inventory if: 
A. Each item in the inventory is unique.
B. Management wants the same unit cost assigned to items sold and items remaining in inventory.
C. Management's primary objective is to minimize income taxes.
D. Management wants the company's income statement to indicate the highest possible amounts of gross profit and net income.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
60. Which of the following inventory cost flow assumptions is not in accord with the physical flow of merchandise in most businesses? 
A. LIFO.
B. FIFO.
C. Specific identification.
D. Average.
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Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
61. A store that sells expensive custom-made jewelry is most likely to determine its cost of goods sold using: 
A. Specific identification.
B. Average cost.
C. First-in, first-out.
D. Last-in, last-out.
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Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
62. A company with a liquid inventory will have: 
A. A high inventory turnover and a high average number of days to sell inventory.
B. A high inventory turnover and a low average number of days to sell inventory.
C. A low inventory turnover and a high average number of days to sell inventory.
D. A low inventory turnover and a low average number of days to sell inventory.
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AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-07 Compute the inventory turnover and explain its uses.
Topic: Financial Analysis and Decision Making
 
63. The choice of inventory valuation method can help achieve each of the following independent goals, except: 
A. Reduce cost of merchandise acquired from suppliers.
B. Increase reported net income.
C. Increase the inventory turnover rate.
D. Reduce the amount of income taxes owed.
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Topic: The Flow of Inventory Costs
 
64. With respect to the valuation of inventory and measurement of the cost of goods sold, the principle of consistency means that the same method should be applied: 
A. In successive accounting periods.
B. By all companies in a given industry.
C. To all products in the inventory.
D. In financial statements and income tax returns.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
65. In a manufacturing company, the "just-in-time" concept of inventory management is best illustrated by: 
A. Receiving deliveries of materials from suppliers just before the materials are used in the production process.
B. Completing the manufacturing process just before the deadline established by the customer.
C. An automated factory that reduces production time below that of other companies in the industry.
D. Selling finished products before they go out of style.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
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Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
66. The "just-in-time" concept of inventory management is best illustrated by: 
A. A clothing manufacturer that sells all of its finished goods before they go out of style.
B. A defense contractor that completes its projects within the deadlines set by its customer (the federal government).
C. A pharmaceutical firm that consistently brings new products to market ahead of its competitors.
D. A homebuilder who has its suppliers deliver lumber and other building materials to the building site the night before these materials will be used by the company's construction crews.

 


AACSB: Reflective Thinking
AICPA BB: Industry
AICPA FN: Risk Analysis
Bloom's: Understand
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Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
67. The primary advantage of a just-in-time inventory system is: 
A. The amount of money tied up in inventory is minimized.
B. Customers are afforded a wider selection of merchandise available for immediate delivery.
C. The company is able to use the specific identification method of inventory pricing.
D. The risks of losing sales opportunities or of having to shut down manufacturing operations because of inventory shortages are minimized.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
68. The principle of consistency states that: 
A. Companies are prohibited from ever changing their accounting methods.
B. Every company in the same industry must use the same accounting principle.
C. There must be a consistent blend to the accounting principles.
D. If changes in accounting principles are made, the reasons for the change and the effects on the company's net income must be disclosed.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
69. From an accounting point of view, one implication of an effective just-in-time inventory system is that: 
A. Sales transactions must be recorded using on-line point-of-sale terminals.
B. Inventories are less material in dollar amount and alternative inventory flow assumptions will produce more similar results.
C. The cost of goods sold is significantly reduced.
D. Purchases of merchandise are recorded as cash payments are made, and sales transactions are recorded as cash is received.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
70. As a result of taking an annual physical inventory, it usually is necessary in a perpetual inventory system to make an entry: 
A. Reducing assets and increasing the cost of goods sold.
B. Reducing assets and increasing liabilities.
C. Reducing the cost of goods sold.
D. Increasing assets and increasing the cost of goods sold.
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AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-02 Explain the need for taking a physical inventory.
Topic: Taking a Physical Inventory
 
71. If all things are equal, except one company uses LIFO during inflation and the other uses FIFO, then: 
A. The LIFO company will have a higher inventory turnover.
B. The FIFO company will have a higher inventory turnover.
C. The two companies will have the same inventory turnover.
D. Inventory valuation methods do not effect inventory turnover calculations.
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Topic: The Flow of Inventory Costs
 
72. An advocate of just-in-time inventory system would say: 
A. Maintain a large inventory selection for customers.
B. Leave extra time in order to make inventory deadlines.
C. Maintain a small inventory supply.
D. LIFO is preferred over FIFO.
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AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
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Topic: The Flow of Inventory Costs
 
73. The logic behind the lower-of-cost-or-market rule is: 
A. Inventory gradually becomes obsolete.
B. Inventory that is unsalable should be written down to zero (or its scrap value).
C. An asset is not worth more than it would cost the owner to replace it.
D. Inventory that is unsalable should be written down to its replacement cost.
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Bloom's: Understand
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74. Many companies state in their annual reports that inventory is shown at the lower of its cost or market value. This means that the inventory: 
A. Is obsolete.
B. Has been written down to a carrying value below cost.
C. Is shown at the lesser of cost or sales value.
D. Is valued at current replacement cost or historical cost, whichever is less.
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Learning Objective: 08-05 Explain the effects on the income statement of errors in inventory valuation.
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75. The lower-of-cost-or-market rule: 
A. Is used in conjunction with the other inventory cost flow assumptions.
B. Cannot be used if LIFO or FIFO are also used.
C. Can be used in conjunction with LIFO but not FIFO.
D. Can only be used with the specific identification cost flow assumption.
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76. Goods in transit between the buyer and the seller belong to: 
A. The seller.
B. The buyer.
C. The freight company.
D. The answer depends upon whether the goods were shipped F.O.B. shipping point or F.O.B. destination.
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77. In a periodic inventory system, the cost of goods sold is determined as follows: 
A. Year-end inventory, plus purchases during the year, less the inventory at the beginning of the year.
B. Net sales, less the balance in the Gross Profit account.
C. Cost of goods available for sale during the year, less the ending inventory.
D. A physical count is made of all items sold throughout the year, and a cost flow assumption is applied at year-end.
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Topic: Taking a Physical Inventory
 
78. During periods of rising prices, and being primarily concerned with tax implications, most companies would select: 
A. LIFO.
B. FIFO.
C. Specific identification.
D. The inventory valuation does not affect taxation.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
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79. For the purpose of delaying income taxes, during an inflationary period, which method would be best? 
A. LIFO.
B. FIFO.
C. Average.
D. Taxes would be the same under each assumption.
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80. Some companies that use a perpetual inventory system and the LIFO flow assumption restate their inventories at year-end to the amount indicated by periodic LIFO costing procedures. The primary reason for this adjustment is that: 
A. Periodic LIFO often results in a higher valuation of inventory, thus reducing taxable income.
B. This adjustment is necessary to record shrinkage losses.
C. Periodic LIFO often results in a lower valuation of inventory, thus reducing taxable income.
D. Periodic and perpetual costing procedures produce the same results if the year-end inventory has been counted properly. No adjustment would be needed.
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81. If the inventory at the end of the current year is understated and the error is never caught, the effect is to: 
A. Understate income this year and overstate income next year.
B. Overstate income this year and understate income next year.
C. Understate income this year with no effect on income next year.
D. Overstate the cost of goods sold, but have no effect on net income.
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Learning Objective: 08-05 Explain the effects on the income statement of errors in inventory valuation.
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82. The CPA firm auditing Capri Corporation found that net income had been overstated. Which of the following could be the cause? 
A. Failure to take advantage of purchase discounts by paying within the discount period.
B. Overstatement of inventory at year-end.
C. Use of the last-in, first-out (LIFO) method of valuing inventory in a period of rising prices.
D. Failure to record payment of an account payable to a supplier on the last day of the year.
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Learning Objective: 08-05 Explain the effects on the income statement of errors in inventory valuation.
Topic: Taking a Physical Inventory
 
83. If an error in valuing inventory occurs in one year: 
A. It has no effect upon income in the following year.
B. It has no effect upon the income statement, only on the balance sheet.
C. It is self-correcting after two years.
D. Retained earnings will be adversely affected until corrected.
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84. Companies with periodic inventory systems often use techniques such as the gross profit method and the retail method to: 
A. Prepare interim financial statements without taking a complete physical inventory.
B. Increase gross profit.
C. Value inventory at its sales price instead of its cost.
D. Reduce taxable income during a period of rising prices.
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85. The inventory turnover rate provides an indication of how quickly the average quantity of inventory on hand: 
A. Spoils.
B. Sells.
C. Increases.
D. Converts into cash.
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86. Busch, Inc. is a successful company, but has a lower inventory turnover rate than the industry average. Of the following, the most likely explanation is that Busch 
A. Has a just-in-time inventory system.
B. Uses LIFO (assume rising purchase costs).
C. Offers its customers an unusually large selection of merchandise.
D. Sells unusually popular items.
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Topic: Financial Analysis and Decision Making
 
87. The gross profit method of valuing inventory: 
A. Is the most accurate of the commonly used methods.
B. Is a satisfactory substitute for taking a physical inventory for annual financial statements.
C. Assumes that the gross profit rate will remain the same for the current year as it has in the past year or so.
D. Is not an acceptable method under GAAP.
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88. Short-term creditors are likely to view a higher-than-average inventory turnover rate as indicating that: 
A. A company is in financial difficulty.
B. The company is able to sell its inventory quickly.
C. The company probably has an excessive amount of inventory.
D. The company has a longer-than-average operating cycle.
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89. Which of the following types of businesses would you expect to have the highest inventory turnover? 
A. An antique shop.
B. An electronics store.
C. A dairy store.
D. A boat manufacturer.
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 Beech Soda, Inc. uses a perpetual inventory system. The company's beginning inventory of a particular product and its purchases during the month of January were as follows:
 [image: image34.wmf] 
On January 14, Beech Soda, Inc. sold 25 units of this product. The other 28 units remained in inventory at January 31.

 

90. Assuming that Beech Soda uses the FIFO flow assumption, the cost of goods sold to be recorded at January 14 is: 
A. $278.
B. $268.
C. $393.
D. $673.

(16 x $10) + (9 x $12) = $268
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Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
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91. Assuming that Beech Soda uses the LIFO flow assumption, the cost of goods sold to be recorded at January 14 is: 
A. $393.
B. $268.
C. $278.
D. $673.

(14 x $12) + (11 x $10) = $278
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92. Assuming that Beech Soda uses the average cost flow assumption, the cost of goods sold to be recorded at January 14 is (round cost per unit to nearest cent): 
A. $317.50.
B. $308.25.
C. $273.33
D. $673.00.

($328/30) x 25 = $273.33
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93. Assuming that Beech Soda uses the FIFO flow assumption, the 28 units of this product in inventory at January 31 have a total cost of: 
A. $400.
B. $395.
C. $405.
D. $410.

$673 - $268 = $405
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Topic: The Flow of Inventory Costs
 
94. Assuming that Beech Soda uses the LIFO flow assumption, the 28 units of this product in inventory at January 31 have a total cost of: 
A. $400.
B. $395.
C. $405.
D. $410.

(5 x $10) + (23 x $15) = $395 or $673 - $278 = $395
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Topic: The Flow of Inventory Costs
 
 At year-end, the perpetual inventory records of Anderson Co. indicate 60 units of a particular product in inventory, acquired at the following dates and unit costs:
Purchased in August: 30 units at $750 per unit.
Purchased in November: 30 units at $700 per unit.
A complete physical inventory taken at year-end indicates only 50 units of this product actually are on hand.

 

95. Assuming that Anderson uses the LIFO flow assumption, it should record this inventory shrinkage by: 
A. Debiting Cost of Goods Sold $7,000.
B. Crediting Cost of Goods Sold $7,500.
C. Debiting Cost of Goods Sold $7,500.
D. Crediting Cost of Goods Sold $7,000.

10 x $700 = $7,000
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96. Assuming that Anderson uses the FIFO flow assumption, it should record this inventory shrinkage by: 
A. Crediting Cost of Goods Sold $7,500.
B. Debiting Cost of Goods Sold $7,000.
C. Crediting Cost of Goods Sold $7,000.
D. Debiting Cost of Goods Sold $7,500.

10 x $750 = $7,500
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97. Under the FIFO flow assumption, the cost of these items to be included in inventory in the company's year-end balance sheet is: 
A. $36,000.
B. $36,500.
C. $42,000.
D. $37,500.

(20 x $750) + (30 x $700) = $36,000
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98. Under the LIFO flow assumption, the cost of this item to be included as inventory in the company's year-end balance sheet is: 
A. $36,000.
B. $42,000.
C. $36,500.
D. $37,500.

(30 x $750) = (20 x $700) = $36,500
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AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Analyze
Difficulty: Medium
Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
 At the end of last year, Games-2-Use had merchandise costing $140,000 in inventory. During January of the current year, the company purchased merchandise costing $102,000, and sold merchandise that it had purchased at a total cost of $84,000. Games-2-Use uses a perpetual inventory system.

 

99. The total amount debited to the Inventory account during January was: 
A. $0.
B. $84,000.
C. $102,000.
D. $140,000.
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Topic: The Flow of Inventory Costs
 
100. The balance in the Inventory account at January 31 was: 
A. $84,000.
B. $140,000.
C. $158,000.
D. $242,000.
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101. The amount of goods transferred from the Inventory account to the Cost of Goods Sold account during January was: 
A. $0.
B. $84,000.
C. $102,000.
D. $56,000.
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Topic: The Flow of Inventory Costs
 
 Castle TV, Inc. purchased 1,000 monitors on January 5 at a per-unit cost of $185, and another 1,000 units on January 31 at a per-unit cost of $230. In the period from February 1 through year-end, the company sold 1,800 units of this product. At year-end, 200 units remained in inventory.

 

102. Assume that Castle TV, Inc. uses the FIFO flow assumption. The cost of the 200 units in inventory at year-end is: 
A. $41,500.
B. $46,000.
C. $37,000.
D. $83,000.

200 x $230 = $46,000
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103. Assume that Castle TV, Inc. uses the LIFO flow assumption. The cost of the 200 units in the year-end inventory is: 
A. $37,000.
B. $46,000.
C. $41,500.
D. $83,000.

200 x $185 = $37,000
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104. Assume that the replacement cost of this monitor at year-end is $220 per unit. Using the FIFO flow assumption and the lower-of-cost-or-market rule, Castle TV should write down the carrying value of this inventory by: 
A. $0.
B. $1,000.
C. $2,000.
D. $3,000.

200 x $10 = $2,000
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Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
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105. Assume that the replacement cost of this monitor at year-end is $210 per unit. Using LIFO flow assumption and the lower-of-cost-or-market rule, the ending inventory amounts to: 
A. $46,000.
B. $42,000.
C. $37,000.
D. $83,000.

200 x $185 = $37,000
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106. On Saturday, June 30, BD Pool Supplies sold merchandise to E. Luang on account. The sales price was $6,400, and the cost of goods sold was $5,300. The sales revenue was recorded immediately, but the entry recording the cost of goods sold was dated Monday, July 2. As a result, net income for June was: 
A. Overstated by $6,400.
B. Overstated by $5,300.
C. Overstated by $1,100.
D. Not affected, but the net income for July is understated.
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 Harding Systems, Inc. uses a periodic inventory system. The purchases of a particular product during the year are shown below:
 [image: image35.wmf] 
At December 31 the ending inventory consisted of 1,500 units.

 

107. Compute the cost of the ending inventory based on the LIFO method of inventory valuation. 
A. $12,500.
B. $27,650.
C. $10,975
D. $29,175.

(1,100 x $7.25) + (400 x $7.50) = $10,975
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108. Compute the cost of goods sold for the current year based on the LIFO method of inventory valuation. 
A. $12,500.
B. $29,175.
C. $10,975.
D. $27,650

$40,150 - $10,975 = $29,175
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109. Compute the cost of the ending inventory based on the FIFO method of inventory valuation. 
A. $12,500.
B. $29,175.
C. $10,975.
D. $27,650.

(1,000 x $8.50) + (500 x $8) = $12,500
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110. Compute the cost of goods sold for the current year based on the FIFO method of inventory valuation. 
A. $12,500.
B. $29,175.
C. $10,975.
D. $27,650.

$40,150 - $12,500 = $27,650
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111. Compute the cost of the ending inventory based on the average-cost method of inventory valuation. (Rounded) 
A. $10,590.
B. $11,694.
C. $29,560.
D. $28,450.

($40,150/5,150) x 1,500 = $11,694

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Analyze
Difficulty: Medium
Learning Objective: 08-04 In a periodic inventory system; determine the ending inventory and the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO.
Topic: Taking a Physical Inventory
 
112. Compute the cost of goods sold for the current year based on the average- cost method of inventory valuation. 
A. $10,590.
B. $11,700.
C. $29,560.
D. $28,450.

$40,150 - $11,700 = $28,450
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 Venus Wholesale Co. started carrying a new product in December. Purchases and sales of this product during the month were:
 [image: image36.wmf] 

 

113. Assuming the LIFO flow assumption is in use, the perpetual inventory records will indicate an ending inventory of this product of: 
A. $9,800.
B. $10,600.
C. $10,800.
D. $8,000.

(20 x $80) + (100 x $90) = $10,600
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114. At year-end, Venus restates the carrying value of its inventory using periodic LIFO costing procedures. Under periodic costing procedures, the LIFO cost of the inventory is: 
A. $9,800.
B. $10,600.
C. $10,800.
D. $8,000.

(100 x $80) + (20 x $90) = $9,800
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115. For the last several years Conway Corporation has operated with a gross profit rate of 40%. On January 1 of the current year the company had on hand inventory with a cost of $600,000. Purchases of merchandise during January amounted to $150,000, and sales for the month were $360,000. Using the gross profit method, what is the estimated inventory at January 31? 
A. $144,000.
B. $216,000.
C. $360,000.
D. $534,000.

($600,000 + $150,000) - ((1.00 - 40%) x $360,000)) = $534,000
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116. During January, Sundown Corporation had sales of $300,000 and a cost of goods available for sale of $600,000. The company consistently earns a gross profit rate of 45%. Using the gross profit method, the estimated inventory at January 31 amounts to: 
A. $135,000.
B. $435,000.
C. $165,000.
D. $465,000.

$600,000 - ($300,000 x (1.00 - 45%)) = $435,000
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117. Colonial uses the retail method to estimate its monthly cost of goods sold and month-end inventory. At August 31, the accounting records indicate the cost of goods available for sale during the month (beginning inventory plus purchases) totaled $270,000. These goods had been priced for resale at $675,000. Sales in August totaled $450,000. The estimated inventory at August 31 is: 
A. $48,000.
B. $90,000.
C. $120,000.
D. $270,000.

($675,000 - $450,000) x ($270,000/$675,000) = $90,000
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118. Garden World uses the retail method to estimate its monthly cost of goods sold and month-end inventory. At May 31, the accounting records indicate the cost of goods available for sale during the month (beginning inventory plus purchases) totaled $540,000. These goods had been priced for resale at $900,000. Sales in May totaled $480,000. The estimated inventory at May 31 is: 
A. $540,000.
B. $252,000.
C. $420,000.
D. $288,000.

($900,000 - $480,000) x ($540,000/$900,000) = $252,000
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 During the current year, Carl Equipment Stores had net sales of $600 million, a cost of goods sold of $500 million, average accounts receivable of $75 million, and average inventory of $50 million.

 

119. Carl Equipment's inventory turnover rate is: 
A. 6.7 times.
B. 10 times.
C. 12 times.
D. 1.2 times.

$500,000,000/$50,000,000 = 10
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120. Assuming a 365-day year, the number of days required for Carl Equipment to convert its average inventory into cash is: 
A. 36.5.
B. 73.0.
C. 24.3.
D. 304.2.

365/10 = 36.5
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 During the current year, Carl Equipment Stores had net sales of $500 million, a cost of goods sold of $400 million, average accounts receivable of $60 million, and average inventory of $50 million.

 

121. Carl Equipment's inventory turnover rate is: 
A. 6.7 times.
B. 8 times.
C. 10 times.
D. 1.25 times.

$400,000,000/$50,000,000 = 8
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122. Assuming a 365-day year, the number of days required for Carl Equipment to convert its average inventory into cash is: 
A. 36.5.
B. 45.6.
C. 54.4.
D. 292.

365/8 = 45.6
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 Midwest Office Products uses the retail method to estimate ending inventory in its monthly financial statements. The following information is available for the month ended May 31:
 [image: image37.wmf] 

 

123. Determine the cost ratio that should be used in estimating the May 31 inventory using the retail method. 
A. 63.8%.
B. 69.4%
C. 66.0%.
D. 68.4%.

$322,200/$471,000 = 68.4%
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124. Estimate the cost of the May 31 inventory using the retail method. 
A. $116,964.
B. $137,400.
C. $150,425.
D. $204,000.

($471,000 - $300,000) x 68.4% = $116,964

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Analyze
Difficulty: Medium
Learning Objective: 08-06 Estimate the cost of goods sold and ending inventory by the gross profit method and by the retail method.
Topic: Taking a Physical Inventory
 
125. Estimate the cost of goods sold for May using the retail method. 
A. $137,400.
B. $150,400.
C. $205,236.
D. $319,600.

$322,200 - $116,964 = $205,236
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 Soriano Company had net sales of $300,000 for the month (after returns and allowances of $1,500 and sales discounts of $3,250). Beginning inventory for the month was $60,000; purchases for the month were $175,000; and gross profit was 43%.

 

126. What were the gross sales for the month? 
A. $129,000.
B. $171,000.
C. $300,000.
D. $304,750.

$300,000 + $1,500 + $3,250 = $304,750
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127. What were the goods available for sale for the month? 
A. $129,000.
B. $171,000.
C. $235,000.
D. $304,750.

$60,000 + $175,000 = $235,000

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Analyze
Difficulty: Medium
Learning Objective: 08-06 Estimate the cost of goods sold and ending inventory by the gross profit method and by the retail method.
Topic: Taking a Physical Inventory
 
128. What was the gross profit for the month? 
A. $129,000.
B. $171,000.
C. $235,000.
D. $304,750.

$300,000 x 43% = $129,000
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129. What was the cost of goods sold for the month? 
A. $129,000.
B. $171,000.
C. $235,000.
D. $304,750.

$300,000 - $129,000 = $171,000
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130. What was the ending inventory for the month? 
A. $60,000.
B. $64,000.
C. $129,000.
D. $175,000.

$235,000 - X = $171,000; X = $64,000
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Essay Questions
 

131. Accounting terminology
Listed below are nine technical accounting terms introduced in this chapter:
Just-in-time
Average-cost method
LIFO method
Gross profit method
Inventory shrinkage
FIFO method
Retail method
Inventory turnover
Each of the following statements may (or may not) describe one of these technical terms. In the space provided below each statement, indicate the accounting term described, or answer "None" if the statement does not correctly describe any of the terms.
_____ a. The flow assumptions in which the oldest units purchased are assumed to have remained in inventory. 
_____ b. A method of estimating the cost of goods sold and ending inventory based upon cost relationships from prior periods.
_____ c. The practice of valuing inventory in the balance sheet at expected sales prices, rather than at cost.
_____ d. An inventory flow assumption involving only one "cost layer."
_____ e. The inventory flow assumption likely to result in the highest reported amount of gross profit during a period of rising prices.
_____ f. A technique for minimizing a company's investment in inventory, particularly inventories of raw materials and finished goods.
_____ g. A measure of a company's ability to sell its inventory quickly. 

(a) LIFO method, (b) Gross profit method, (c) None, (d) Average cost method, (e) FIFO method, (f) Just-in-time, (g) Inventory turnover
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132. Inventory flow assumptions 
Flat TV uses a perpetual inventory system. Shown below are Flat TV's beginning inventory of a particular product and purchases during January:
 [image: image38.wmf] 
On January 23 (prior to the purchase on January 25), Flat TV sold 13 units of this product.
Determine the cost of goods sold relating to the sale on January 23 under each of the following flow assumptions. (Show your computations.)
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 [image: image40.wmf] 

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Analyze
Difficulty: Medium
Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
133. Inventory flow assumptions
The perpetual inventory records of Handy Hardware show 150 units of a particular product on hand, acquired at the following dates and costs:
 [image: image41.wmf] 
On June 3, Handy sold 120 units of this product.
Instructions: Prepare a journal entry to record the cost of goods sold relating to the sale on June 3, assuming that Handy uses:
(a) A LIFO flow assumption.
(b) A FIFO flow assumption.
(c) The average cost (or moving average) flow assumption.
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134. Inventory flow assumptions
Arrow, Inc. uses a perpetual inventory system. On January 22, 2010, the company had 200 units of a particular product on hand, with a total cost of $2,400. The per-unit costs were:
 [image: image44.wmf] 
On January 24, 2010, Arrow sold 65 units of this product.
Using the three flow assumptions listed below, compute (1) the cost of goods sold, and (2) the cost of the inventory of this product on hand after this sale. Show your computations.
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135. Comparison of LIFO and FIFO
Company X and Company Y sell the same product. The cost of this product has been rising steadily throughout the year. Both companies reported the same net income for the year, although Company X used the first-in, first-out method of pricing inventory, while Company Y used the last-in, first-out method.
(a) Which company's valuation of ending inventory in the balance sheet is more likely to approximate replacement cost? 
Company ______________________________
(b) Which company reports a cost of goods sold figure in the current year income statement that is more likely to reflect the replacement cost of the units sold?
Company ______________________________
(c) Which company is minimizing income taxes it must pay?
Company ______________________________
(d) Which company would have reported the higher net income if both companies had used the same method of pricing inventory?
Company ______________________________ 

(a) Company X (FIFO method).
(b) Company Y (LIFO method).
(c) Company Y (LIFO method).
(d) Company Y
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136. Shrinkage losses
At year-end, the perpetual inventory records of James Products indicate 105 units of a particular product in inventory, acquired at the following dates and unit costs:
 [image: image47.wmf] 
A complete physical inventory taken at year-end indicates only 93 units of this product actually are on hand.
Determine the dollar amount of the shrinkage loss assuming that James uses:
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137. Lower-of-cost-or-market
Elite Systems sells a single product. At December 31, the company's perpetual inventory records indicate 2,500 units on hand with a total cost (FIFO basis) of $155,000. The replacement cost of this product at this date is $35 per unit.
Prepare journal entries to record (a) the write-down of the inventory to the lower-of-cost-or-market value at December 31, and (b) the cash sale of 100 units on January 4 at a retail price of $50 per unit.
 [image: image50.wmf] 
(a) Dec. 31
(b) Jan. 4 
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138. Periodic inventory systems
Funky Fashions uses a periodic inventory system. The beginning inventory of a particular product, and the purchases during the current year, were as follows:
 [image: image52.wmf] 
At December 31, the ending inventory of this product consisted of 1,300 units.
Determine the cost of the year-end inventory and the cost of goods sold for this product under each of the following methods of inventory valuation:
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139. Periodic inventory systems
Tres Chic uses a periodic inventory system. The beginning inventory of a particular product, and the purchases during the current year, were as follows:
 [image: image55.wmf] 
At December 31, the ending inventory of this product consisted of 850 units.
Determine the cost of the year-end inventory and the cost of goods sold for this product under each of the following methods of inventory valuation (Rounded):
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140. Effects of errors in inventory valuation
Show the effect, if any, of each of the following errors on ending inventory, cost of goods sold, gross profit on sales, and net income by placing the appropriate symbol in each column. In use is the periodic inventory system. Use the following symbols: O = Overstated, U = Understated, NE = No Effect.
 [image: image58.wmf]  

 [image: image59.wmf] 

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-05 Explain the effects on the income statement of errors in inventory valuation.
Topic: Taking a Physical Inventory
 
141. Gross profit method
Horizon Company had sales of $1,750,000 during the current period and a gross profit rate of 40%. The company's cost of goods available for sale during the period was $1,400,000. The company's ending inventory must have amounted to $_______________. 

Horizon's ending inventory amounted to $350,000.
Computations
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142. Gross profit method
On April 30, Greenfield Sales, Inc. lost its entire inventory in a flood. The following information is available from the company's accounting records, which were recovered from the waterproof safe:
 [image: image61.wmf] 
The gross profit of Greenfield Sales, Inc. over the past several years has consistently averaged 35% of net sales. Using the gross profit method, estimate the cost of the inventory lost in the flood on April 30. 

 [image: image62.wmf] 
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143. Gross profit method
The Walnut Shop is a furniture company that uses a periodic inventory system. On February 8, 2009, a fire destroyed all the furniture on display in the company's main showroom. Fortunately, $35,000 of the company's inventory was located in a separate warehouse and was not damaged by the fire.
Walnut Shop now is attempting to determine the cost of the merchandise destroyed in the fire from the following information:
 [image: image63.wmf] 
Compute the following (show computations):
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144. Retail method
Omega Signs uses the retail method to estimate ending inventory in its monthly financial statements. The following information is available for the month ended April 30:
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Using the retail method:
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145. Retail method
Global Office Supply uses the retail method to estimate ending inventory in its monthly financial statements. The following information is available for the month ended July 31:
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Using the retail method:
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146. Inventory turnover
In the spaces provided, indicate the likely effect of each of the following events or strategies upon the inventory turnover rate in the coming period. Use the following code letters: I for Increase, D for Decrease, and NE for No Effect.
____ (a) Reduced sales prices in order to increase sales volume.
____ (b) Ordered substantially larger amounts of merchandise in order to receive a volume discount from the supplier.
____ (c) Switched from the FIFO flow assumptions to LIFO during a period of rising prices.
____ (d) Placed sales clerks on commission, rather than a fixed monthly salary.
____ (e) Decided to offer customers a wider selection of merchandise available for immediate delivery. 
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147. Inventory turnover
In the spaces provided, indicate the likely effect of each of the following events or strategies upon the inventory turnover rate. Use the following code letters: I for Increase, D for Decrease, and NE for No Effect.
____ (a) Switched from the LIFO flow assumption to FIFO during a period of rising prices.
____ (b) Dramatically increased advertising expense.
____ (c) Increased the sales price of merchandise that is so popular it is difficult to keep in stock.
____ (d) Implemented internal control procedures to reduce a serious inventory shrinkage problem.
____ (e) Switched from a restrictive credit policy to offering liberal terms to credit customers. 
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Topic: Financial Analysis and Decision Making
 
148. Inventory flow assumptions
Briefly discuss the factors management should consider in deciding:
(a) Whether to use specific identification or a flow assumption in measuring the cost of goods sold.
(b) Whether to use FIFO or LIFO. (Assume a long-run trend of slowly rising prices.) 

(a) In large part, the decision of whether to use specific identification or a flow assumption depends upon the nature of the inventory. If the individual items comprising the inventory are unique, specific identification is the logical choice. If the inventory consists of items similar in cost, function, and sales value, either specific identification or a flow assumption may be used. A flow assumption usually is used in these circumstances, as this eliminates the need for tracing each item sold into the accounting records to determine its specific cost. Also, flow assumptions may accomplish specific managerial objectives, such as minimizing income taxes, more effectively than would specific identification.
(b) The decision of whether to use LIFO or FIFO depends upon management's financial reporting objectives. In a period of rising prices, LIFO will assign more recent (and higher) costs to the cost of goods sold, therefore minimizing reported income. For this reason, LIFO is popular for income tax purposes. However, the IRS requires companies that use LIFO for income tax purposes also to use the LIFO method in their financial statements.
The FIFO method, in contrast, assigns older (and lower) costs to the cost of goods sold, thereby enabling the company to report a higher gross profit. This method may be preferred by a management that is concerned with creating a superficial impression of profitability.

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Decision Making
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Topic: The Flow of Inventory Costs
 
149. Retail method
Many large retailers take a physical inventory near year-end and state in their annual report that inventory has been valued by the "retail method." What does this mean? (Your answer should address [1] whether inventory is valued in the financial statements at cost or retail prices, and [2] how this dollar amount is determined.) 

The retail method may be used as a valuation method in conjunction with the taking of a physical inventory. In these cases, the inventory is counted and priced at retail prices, but the cost of the inventory is then estimated by applying the cost ratio to this retail price. In the balance sheet, the inventory is shown at the estimated cost figure.

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Reporting
Bloom's: Understand
Difficulty: Medium
Learning Objective: 08-06 Estimate the cost of goods sold and ending inventory by the gross profit method and by the retail method.
Topic: Taking a Physical Inventory
 
150. The Valley Garden Company had the following transactions:
 [image: image74.wmf] 
(A) Prepare journal entries for Valley Garden assuming the Company uses the gross method when accounting for purchases and a perpetual inventory.
(B) Prepare journal entries for Valley Garden assuming the Company uses the gross method and a periodic inventory. 
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AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Apply
Difficulty: Medium
Learning Objective: 08-06 Estimate the cost of goods sold and ending inventory by the gross profit method and by the retail method.
Topic: Taking a Physical Inventory
 
151. The Multi-Tech Company uses the gross profit method to estimate inventories. Fill in the missing amounts.
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(a) $304,750
(b) $235,000
(c) $64,000
(d) $171,000
(e) $129,000

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Analyze
Difficulty: Medium
Learning Objective: 08-06 Estimate the cost of goods sold and ending inventory by the gross profit method and by the retail method.
Topic: Taking a Physical Inventory
 
 


Multiple Choice Questions
 

152. The primary purpose of an inventory flow assumption is to: 
A. Increase inventory turnover.
B. Increase gross profit.
C. Determine which unit costs are assigned to inventory and which are assigned to the cost of goods sold.
D. Minimize taxable income during periods of rising prices.

 


Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Learning Objective: 08-04 In a periodic inventory system; determine the ending inventory and the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO.
Learning Objective: 08-07 Compute the inventory turnover and explain its uses.
 
153. During a period of steadily rising prices, which of the following inventory valuation methods is likely to result in the lowest cost of goods sold? 
A. LIFO.
B. FIFO.
C. The retail method.
D. The gross profit method.

 


Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Learning Objective: 08-04 In a periodic inventory system; determine the ending inventory and the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO.
Learning Objective: 08-07 Compute the inventory turnover and explain its uses.
 
154. The primary reason for the popularity of the LIFO flow assumption is that this method: 
A. Is most appropriate when each item in inventory is unique.
B. Tends to minimize taxable income.
C. Causes inventory to be reported at or near its current replacement cost.
D. Reduces the amount of money "tied up" in inventory.

 


Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Learning Objective: 08-04 In a periodic inventory system; determine the ending inventory and the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO.
Learning Objective: 08-07 Compute the inventory turnover and explain its uses.
 
155. In a periodic inventory system, the cost of goods sold is determined by: 
A. Multiplying net sales for the period by a cost ratio.
B. Journal entries made at the time of each sales transaction.
C. Physically counting the quantities of merchandise sold each day, and determining the cost of these items at year-end.
D. Subtracting the cost assigned to the ending inventory from the cost of goods available for sale during the period.

 


Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Learning Objective: 08-04 In a periodic inventory system; determine the ending inventory and the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO.
Learning Objective: 08-07 Compute the inventory turnover and explain its uses.
 
156. Salerno Co. has an inventory turnover rate of 7 and an accounts receivable turnover rate of 5. Assuming 365 days in a year, the period of time required for Salerno to convert its inventory into cash through normal business operations is approximately: 
A. 21 days.
B. 52 days.
C. 4 months.
D. 2.5 months.

 


Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
Learning Objective: 08-04 In a periodic inventory system; determine the ending inventory and the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO.
Learning Objective: 08-07 Compute the inventory turnover and explain its uses.
 
 Ace Systems, Inc. uses a perpetual inventory system. The company's beginning inventory of a particular product and its purchases during the month of January were as follows:
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On January 28, Ace Systems sells 18 units of this product. The other 12 units remain in inventory at January 31.

 

157. Assuming that Ace Systems uses the average cost flow assumption, the cost of goods sold to be recorded at January 28 is: 
A. $504.
B. $336.
C. $499.
D. Some other amount.

 


Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
 
158. Assuming that Ace Systems uses the LIFO flow assump​tion, the cost of goods sold on January 28 is: 
A. $331.
B. $509.
C. $499.
D. Some other amount.

 


Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
 
159. Assuming that Ace Systems uses the FIFO flow assump​tion, the cost of goods sold on January 28 is: 
A. $509.
B. $341.
C. $499.
D. Some other amount.

 


Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
 
160. Assuming that Ace Systems uses the LIFO flow assump​tion, the 12 units of this product in inventory at January 31 have a total cost of: 
A. $499.
B. $331.
C. $509.
D. Some other amount.

 


Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
 
161. Assuming that Ace Systems uses the FIFO flow assump​tion, the 12 units of this product in inventory at January 31 have a total cost of: 
A. $341
B. $509.
C. $499.
D. Some other amount.

 


Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
 
 


Essay Questions
 

 Canfield uses a perpetual inventory system. The company's beginning inventory of a particular product and its purchases during the month of January were as follows:
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On January 25, Canfield sells 55 units of this product. The other 45 units remain in inventory at January 31.

 

162. Determine the cost of goods sold using each of the following flow assumptions:
(1) LIFO $_____________
(2) FIFO $_____________
(3) Average cost $_____________ 

Cost of goods sold:
(1) $405 (25 @ $8) + (25 @ $7) + (5 @ $6)
(2) $335 (50 @ $6) + (5 @ $7)
(3) $371.25 (675 ( 100) x 55

 


Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
 
163. Determine the cost of the 45 units in inventory at January 31 using each of the following flow assumptions:
(1) LIFO $_____________
(2) FIFO $_____________
(3) Average cost $_____________ 

Inventory at Jan. 31:
(1) $270 ($675 - $405);
(2) $340($675 - $335);
(3) $303.75 (45 @ $6.75)

 


Learning Objective: 08-01 In a perpetual inventory system; determine the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO. Discuss the advantages and shortcomings of each method.
 
164. Sherman Electric uses a periodic inventory system. The beginning inventory of a particular product, and the purchases during the current year, were as follows:
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At December 31, the ending inventory of this product consisted of 65 units.
Using periodic costing procedures, determine (1) cost of the year-end inventory and, (2) cost of goods sold relating to this product under each of the following flow assumptions:
 [image: image80.wmf]  
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Learning Objective: 08-04 In a periodic inventory system; determine the ending inventory and the cost of goods sold using (a) specific identification; (b) average cost; (c) FIFO; and (d) LIFO.
 
 


Multiple Choice Questions
 

165. The primary purpose for using an inventory flow assumption is to: 
A. Parallel the physical flow of units of merchandise.
B. Offset against revenue an appropriate cost of goods sold.
C. Minimize income taxes.
D. Maximize the reported amount of net income.

 

166. Ace Auto Supply uses a perpetual inventory record. On March 10, the company sells two Shelby four-barrel carburetors. Immediately prior to this sale, the perpetual inventory records indicate three of these carburetors on hand, as shown below:
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With respect to the sale on March 10: (More than one of the following answers may be correct.) 
A. If the average cost method is used, the cost of goods sold is $460.
B. If these carburetors have identification num​bers, Ace must use the specific identification method in determining the cost of goods sold.
C. If the company uses LIFO, the cost of goods sold will be $15 higher than if it were using FIFO.
D. If the company uses LIFO, the carburetor remaining in inventory after the sales will be assumed to have cost $220.

 

167. T-Shirt City uses a periodic inventory system. During the first year of operations, the company made four purchases of a particular product. Each purchase was for 500 units and the prices were: $9 per unit in the first purchase, $10 per unit in the second purchase, $12 per unit in the third purchase, and $13 per unit in the fourth purchase. At year-end, 650 of these units remained unsold. Compute the cost of goods sold under the FIFO method and LIFO method, respectively. 
A. $13,700 (FIFO) and $16,000 (LIFO).
B. $8,300 (FIFO) and $6,000 (LIFO).
C. $16,000 (FIFO) and $13,700 (LIFO).
D. $6,000 (FIFO) and $8,300 (LIFO).

 

168. Trent Department Store uses a perpetual inventory system but adjusts its inventory records at year-end to reflect the results of a complete physical inventory. In the physical inventory taken at the ends of 2010 and 2011, Trent's employees failed to count the merchandise in the store's window display. The cost of this merchandise amounted to $13,000 at the end of 2010, and $19,000 at the end of 2011. As a result of these errors, the cost of goods sold for 2005 will be: 
A. Understated by $19,000.
B. Overstated by $6,000.
C. Understated by $6,000.
D. None of the above.

 

169. In July 2011, the accountant for LBJ Imports is in the process of preparing financial statements for the quarter ended June 30, 2011. The physical inventory, however, was last taken on June 5 and the accountant must establish the approximate cost at June 30 from the following data:
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The gross profit on sales has consistently averaged 40% of sales. Using the gross profit method, compute the approximate inventory cost at June 30, 2011. 
A. $420,000.
B. $880,000.
C. $480,000.
D. $1,360,000.

 

170. Allied Products maintains a large inventory. The company has used the LIFO inventory method for many years, during which the purchase costs of its products have risen substantially. (More than one of the following answers may be correct.) 
A. Allied would have reported a higher net income in past years if it had been using the average cost method.
B. Allied's financial statements imply a lower inventory turnover rate than they would if the company were using FIFO.
C. If Allied were to let its inventory fall far below normal levels, the company's gross profit rate would decline.
D. Allied would have paid more income taxes in past years if it had been using the FIFO method.
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